8
(@5 Agromehanika

B05.2-120_HYDRAULICS 12MY

DETAIL B

/]
Al
g " DETAIL A
= ) I™-._533016 - 1500EN
| 533008 - 3000EN
Q 11 @ 6
@(1_—2\@ \{EXTENSION FOR 4

% TRAILED SPRAYER %

DETAIL E
/' ;gz
@

1 @

~
[
~
.
. \ ~. 018.20.112
o ~
~
N
~
~
.

~~
T
~

DETAIL D s
| bre20 Tt



$

{&4 Agromehanika

B05.2-120_HYDRAULICS 12MY

Pos. o Code Description Qty
1 017.45.007 CYLINDER HEAD M18x1,5-fi16 2
2 018.20.100 CYLINDER HIDR.CD160B-50 /22x 305 2
3 018.20.110 PART T M16x1,5 MMM 2
4 019.33.008 MATICA M5(8.8Zn)DIN934 2
5 019.37.902 MAZALKA AM 6 RAVNA DIN 71412 (00492) 2
6 533215 SPOJKA HIDR. M22X1,5 2
7 533821 CONNECTION RAVNI 16x1,5-WGE10-LM WEBER 2
8 540009 VIJAK M5x15(8.8Zn)DIN933 2
9 540473 PODLOZKA 16,0x22,0x1,5(Cu)DIN7603-A 4
10 588677 DOUBLE SCREW M16x1,5 MM 2
11 533586 REDUCER M22x1,5-M16x1,5 FM (kon.navoj) 1
12 546018 "TESNILO "O" fi18x2,65 (ORIBO1800) AGT 850" 3

13 533262 REGULATOR PRETOKA M16x1,5 2


javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=017.45.007&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=1&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=017.45.007&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=1&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=018.20.100&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=2&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=018.20.100&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=2&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=018.20.110&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=3&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=018.20.110&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=3&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=019.33.008&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=4&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=019.33.008&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=4&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=019.37.902&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=5&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=019.37.902&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=5&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=533215&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=6&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=533215&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=6&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=533821&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=7&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=533821&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=7&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=540009&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=8&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=540009&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=8&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=540473&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=9&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=540473&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=9&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=588677&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=10&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=588677&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=10&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=533586&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=11&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=533586&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=11&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=546018&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=12&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=546018&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=12&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=533262&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=13&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);
javascript:CEDetInnerOpen('../site/pagece5.wplus?ID_COUNT=ce_5_home_scheda_componente&LN=2&CEPV=Agromehanika001&CELN=2&CEME=2&CDDST=533262&PRC=%7CR%7CCE_1%7CCE_5%7CCE_499%7CCE_524%7CCE_539%7CCE_547&Map=CE_547&Num=13&Option=&Recommended=&ARC=0&CEINOP=4','DTS',VPPCECAR);

